Rk 2 OFE F3IAHARFE BAE
TR29%E FIAB AR EFIHE 1R 2R 3R e
B | €94y K 4 XA 58 FoRE |IEL| &8 | T2F |IBEL| FA FHRE |IEL| FH%
1 1 =@ #H SR 1,389.0| 1000.00| 1 1,4200| 1000.00| 1 13580 97628 2 2000.00
2 25 #BA =7 SR 12950 93233 2 13450 947.18| 5 1,3910| 1000.00| 1 1947.18
3 5 A &g SR 12650 91073| 4 13750 96831 2 13390 96262 4 1930.93
4 9 | Mz m—pp SR 1,1390| 82001| 11 13540 95352| 3 13500, 97052| 3 1924.05
5 13 BA mz SR 12020 86537| 8 13510 95141 4 13300 956.15| 5 1907.56
6 36 FARE - SR 12920 930.17| 3 13400 94366 6 13260 95327| 6 1896.93
7 31 J\E = SR 12180 87689 5 12830 90352| 9 13150 94536| 7 1848.88
8 18 it #H4 =g 11260 81066 15 12890 907.75| 8 12950 93098 8 1838.73
9 23 G mey | pAEER4E#m | 12050| 867.53| 7 13040 91831 7 12680 91157| 10 1829.88
10! 34 WA SF th U 120900 87041 6 12680 892.96| 10 12890 92667| 9 1819.63
1l o1 i=E = | EmeEm| 11330] 81569 12 12500 880.28| 12 12560| 902.95| 12 1783.23
12 | 16 KE B =4t 10800 777.54| 23 12220 860.56| 16 12520 900.07| 14 1760.64
131 32 B E= =4t 1,1220| 807.78| 16 12100 85211 18 12600 90582 11 1757.94
121 13 JE) msth | pAEEER4Em| 10970 78978 21 12550 883.80| 11 12120 871.32| 20 1755.12
151 33 /A #E ki) 11470 82577| 9 12080 850.70| 19 12560| 902.95| 12 1753.65
16 7 i WA | EAmeEsm|  10740| 77322 26 12280 86479 15 12190 876.35| 16 1741.14
17 1 17 hE Kt th U E 10620 764.58| 28 12050 84859 21 12380 89001 15 1738.60
18 | 37 EE B— L 11280 81210 14 12170 857.04| 17 12150 87347| 19 1730.51
19 ) WA =87 th U E 11090 79842 17 12360 87042| 14 11890 85478 27 1725.20
20 | 4 E & ki) 1,107.0| 796.98| 18 12460 87746 13 1,167.0| 838.96| 32 171643
21 | 920 TR & RAEEE{Sam || 10790| 77682 24 12080 850.70| 19 11980 861.25| 24 1711.96
20 | 38 e =E | EAmems || 113200 81497 13 1,1930| 840.14| 23 12030 86485 23 1704.99
23 | 30 | b mEE | RAEE4Esm | 11040 79482 19 11630 819.01| 28 12190 876.35| 16 1695.36
24 | 98 N LI 1,1000| 79194 20 11660 821.13| 27 12160 87419 18 1695.32
25 2 &8 TEA =4t 10250 737.94| 34 1,1900| 838.03| 24 1,1830| 85047 28 1688.50
26 | 19 h)l 8 It 9960 717.06| 36 1,159.0] 816.20| 31 12060 867.00| 21 1683.20
27 | 10 RE Al =g 9400 676.75| 37 11860 83521 25 11680 839.68| 31 1674.89
28 | 24 | BHE R L 11430 822389 10 11610 817.61| 30 11790 84759 29 1670.49
29 | 14 s $%E ki) 10340 74442 31 11420 804.23| 33 11950 859.09| 25 1663.32
30 | 15 | 28 <Smmx | @meEm| 10790 77682 24 1,1730| 826.06| 26 11640 836.81| 33 1662.86
31 | 22 | mE s8g =4t 10870 78258 22 11620 81831 29 1,1700| 841.12| 30 1659.43
32 6 = K It 10260 73866 33 12000 84507 22 11320 81380 37 1658.87
33 | 26 | B4 th U E 10280| 740.10| 32 11160 785.92| 38 12060 867.00| 21 1652.92
3 | 97 IO #s | EmeEsm | 10420] 75018 29 1,1300| 795.77| 37 1,1900| 85550 26 1651.27
35 | 35 BR (- RAEE{=a || 10370| 74658| 30 11540 81268 32 1,156.0| 831.06| 35 164373
36 | 29 T E=E =g 10250 737.94| 34 1,1340| 79859 35 11610 83465 34 1633.24
37 | 39 STE R =g 9390 676.03| 38 11400 802.82| 34 11110 79871 38 1601.52
38 | 12 =H B L 9380 675.31| 39 1,1080| 780.28| 39 11370 817.40| 36 1597.68
39 | 21 &% T8 ki) 10680 768.90| 27 1,1330| 797.89| 36 10410 748.38| 39 1566.79
0.00




